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The State of stress at point A

Section Properties:

A = 0.24(0.15) — 02(0.135) = 9.00{107%) m?

1 L .
1= 55 (015)(024°) - 7 (0.135)(0.2°) = 82.8(107) m*
0, = Iy A" = 0.11(0.15)(0.02) + 0.05(0.1)(0.015)

= 0.405(107%) m?

Normal Stress:
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47 9000107%) T 82.8(107%)

= 0.444 MPa (T)

Shear Stress: Applying shear formula.
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The State of stress at point B

Section Properties:

A = 024(0.15) — 0.2(0.135) = 9.00(107) m?

_1 < 3 _ L < 3\ _ -
I=3 (0.15)(0.24) o (0.135)(0.2%) = 82.8(107%)m
0=10

Normal Stress:

b N My
AT
_400(10%)  0.6667(10°)(0.12)
TET900(107) T 82.8(1075)

= —0.522 MPa = 0.522 MPa (C)

Shear Stress: Since Qp = 0, then

g =10

Up=0522 Mpa. j




